Here we will draw an equivalent current label with an arrow pointing upwards or to the right, as needed.
For the 3 A source, draw an arrow pointing up. We have a mismatch with the defined direction, so we negate the sign.

For the second source, we again have a mismatch, so we negate the sign, yielding + 5 A.

The next source’s arrow matches ours, so we copy the -12 A value.

For the fourth source, we negate the sign and copy the value.

Now we’re drawing our arrows to the right. The process is the same as before.

We negate the value of our first and last sources, while the 25 A source’s value remains the same.

